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I.  Invalid(ating) 720
a. Vines etc: growing over n)v invalidate, unless proper 720 forms majority of cover or he uproots it
b.  General rule: proper 790 is
i. Anything which is not: a receptor of nkmY and
ii. Anything which grew: from the ground and
iii. Amnything which is not: currentlygrowing from the ground
I. 27 v. YRmnw re: cutting/uprooting alone as valid (without moving the newly-1v2 720 a bit)
a.  SNww must shake it a bit (due to nwyn [v.1] - nwyn 0 &)
b. 27 noneed to shake it — the uprooting is a sufficient action
i. Source: 17's ruling re: n¥»¥; were tied on but not cut, he allowed to be cut and deemed valid
ii. 581w strings must be retied; Xnva (if he tied to 2 corners at once, then cut->valid) interprets
as meaning that you may tie it — no concern that when placed on corner they weren’t valid
iii. Challenge (to 37): Rn»12 applying nwyn 10 X5 NwYN to our MWN — must be vine was cut, yet still 109
1. Answer: case where tree was cut in a covert fashion, no recognizable n»wy
iv.  Challenge (to 37): “if he hung the strings and then cut them - they are invalid” — »wp
v. Proposal: S%1nw/17 is 0RIN 'nn (re: removing buds from oTn after TIR->now becomes 7v3)
1. v 12 pvow /7 if he violated the 131277 and removed the buds, it is invalid
2. opom valid;
a. Note: all agree that 3R 7% 259 we infer 2915 from N>
b. Dispute: whether we hold that cutting is an n»wy
c.  Rejection: perhaps dispute is re: point #2 (do we infer n2yon 191) OR
i. Perhaps: dispute is re: point #1 (does 1919 require TiR)
ii. Rather: this is indeed a nponn:
1. owom a9 does not require TR
a.  They agree: that it is ideal as mxn M (v. 4)
2. A T AN requires MR (vv. 2-3)
III.  Source for requirements of 720
a. 57T v.5: the cloud came from the ground (association with clouds — 1230 )
i. Note: this is only valid for 8™, who identifies the m10 as 71250 "1Y; not for Y™ (real M)
ii. p77 mmonan (v. 1) no:nnn just as mnn grows from ground (food) and isn’t nkmv Yapn (°n)
1. Challenge: if so, should be animal like n»an
2. Answer: end of v. 1 - refers to leftovers of the granary and winepress
a.  Challenge: perhaps it includes the grains and grapes
b. Answer: 1p> denotes after it is made into wine (impossible to be 720)
i. Challenge: perhaps it is dried fruit
ii. Answer: 71 etc. — only some of it
b. w701 77 v. 7 (370 — for 29Y; may yy — for 1I0)
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